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~1x10% = 687.9 x 104 =
1079 = 3x 10 =
243.6+ 1001 = 1002 =
846.6 x 1002 = 3% 10 =
1070 = 266.8 x 1009 =
5x100Y = 3% 100D =
4x 1079 = 575 x 100D =
3x 10" = g x 100D =
2583+ 100D = 5% 102 =
1079 = 859.2 x 100D =
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~1x 107 = —100 687.9 x 107 = 0.06879
107 = 0.001 3% 10 =30
243.6+ 107" = 2436 1072 = 0.01
846.6 x 1072 = 8.466 3% 10 =30
1079 = 0.1 266.8 x 107 = 0.02668
5% 107% = 0.0005 3x 1077 =03
4 x 107 = 0.0004 575 x 100V =575
3x10° =3 8x107Y = 0.8
258.3 + 100" = 2583 5x 10 = 500
107 = 0.0001 859.2 x 1007 = 85.92
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